N = 0l & At & Ml A

20158 & =04 LBHSIH 2322 M=
AN 22Z ML
A BU=TE
& SU=AMIE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
st s 14,770,948 13,212,779 1,558,169
= 719,010
X 1,600,000
J| 148,463
< 2,040,412
s 10,263,063
Zatusds 1,390,552 1,304,242 86,310
= 10,410
< 30,810
fia 1,349,332
EStU = ALK& 498,503 737,724 A 239,221
< 10,560
s 487,943
2JLOF2 2HHl & AKI & 179,000 237,000 /58,000
307 21201 A 179,000 237,000 A58,000
03 QIZtHNHEB2LHEX 20,000 0 20,000
OXJI0lZ23EES 2ZHl 20,000
04 QIZFHALAIH B = 159,000 209,000 A 50,000
OX392l ADJt0F23tMl ALK& 159,000
SH=AZHUHE A XA 98,000 98,000 0
307 21201 A 98,000 98,000 0
04 QIZFHALAIH B = 98,000 98,000 0
o=sd s24ZAUs K& 7,000,000& 145 H 98,000
3= ESAH(AHH) 1,000 1,000 0
201 €82l 1,000 1,000 0
01 At 22l 1,000 1,000 0
OEIIRE dA==E 100,000& * 103l 1,000
ROt 2stEs AMEXE 42,000 10,000 32,000
< 10,560
i 31,440
307 glz2tol & 42,000 10,000 32,000
< 10,560
s 31,440
04 QIZFHALAIH E = 42,000 10,000 32,000
OOt 233 MR 42,000
< 10,560
[ia 31,440
EFelIEAY 23,503 23,224 279
307 21201 A 23,503 23,224 279
02 QB AAHEX 23,503 23,224 279
O=Zst=eldtE A XA 23,503
JIEHXI S 2 5t 3,500 3,500 0




2N
X ZH -
L= B

el

M0 MO MO

fon o ton
]

Id}

=t

Olor Ho
=1

ot or

S B G(SA) - NRANY - BES il 2
201 Lt 1,500 1,500 0
01 At 22l 1,500 1,500 0

O=Zstoles &AL 22 2 100,000* 154 1,500
203 YR =2t 2,000 2,000 0
03 Al Z X 2= 7| 2,000 2,000 0
O sAEFE 20,000& *10H x 103l 2,000

2IL0FE L ALE &AL 50,000 50,000 0
201 £Br2%H| 50,000 50,000 0
03 AH2 S HI 50,000 50,000 0

OXIIOFE L AL S 50,000

DEXZ0l SHAXRIA 17,500 15,000 2,500
201 Let24E] 7,500 7,500 0
03 &Ar2 Z I 7,500 7,500 0

O8 XAl AKX 7,500
301 et a3z 10,000 7,500 2,500
09 &AL HI B &S 10,000 7,500 2,500
ONEXZOl SAMHELES 10,000

AN Y S=EEAF K& 5,000 4,000 1,000
307 21201 A 5,000 4,000 1,000
04 DIZHHALALSE E X 5,000 4,000 1,000

OXIIEHA Y SHHAM 5,000

HEE ZSEA N 5,000 4,000 1,000
307 glz2tol & 5,000 4,000 1,000
04 DI2HHALAISE E X 5,000 4,000 1,000

OLHEHZE HSHA 5,000

MO SCHal JHEl XI& 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
04 QIZFHALAIH E = 2,000 2,000 0

Ox102 Mols ==l 2,000

E2d =M Mz XN 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B & 10,000 10,000 0

OXM3s EAEZ 10,000

BHE&H 85 HHel =Hl 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0

OBEHEE &8 2l =l 5,000




<

n0

Kio

Hl w

30,000
30,000
30,000

22,000
22,000
22,000
275,240

20,000
20,000

265,000

85,000

34,000
34,000
34,000

H3r
Wikd
RIS

5,000
5,000
5,000

311,740

70,000
70,000
70,000

5,500

5,500

5,500

76,000
76,000

75,000

0l &t o

5,000
5,000
5,000
5,000

30,000
30,000
30,000
30,000

22,000
22,000
22,000
22,000

586,980

H

6,250
580,730

mH

90,000
90,000

5,000
5,000

85,000
25,000
60,000

5,500

2,750
2,750

W

5,500
2,750
2,750
5,500
5,500
2,750
2,750
110,000

H

i

H

110,000
109,000
41,000

11,000
15,000
8,000
4,000

307 21201 &

30
<0
)

30

n
ok

3,000, 000+10%!

B0
<0
I
B0
n
ok

ol

H

X ALK 2

=
-

t

]

307 glztol &

H

i

o)

30
OH
od
10y
il
X0
r

307 21201 &

Ki
iy
&1

<0
0
~J

ol

oF

K1

80
0
RO
i

iR

ol

~J

oJ

30
0

[gi]
ol
il

R

Ki
H

[

30
01
[0S
ol
1l
X0
=

307 21201 &

NR=PAR]

&

t

110
il
X0

307 glztol &

Kq
!
D
<0
&0
A

ol

A&

ol
<
l
oll
o
o7
il
X0

Oo=s=AX=edl

ol
[u}

ol
20
A0
<+
[E
ior
o}
]3]




<

n0

Kio

Hl w

10,000
10,000
10,000
199,240

2,240
2,240
197,000
197,000

5,000
5,000

A 25,000

H3r
Wikd
RIS

1,000
7,000

7,000

7,000

25,000
25,000
25,000
62,240

2,240
2,240
60,000
60,000

35,000
35,000
33,000

0l &t o

8,000
10,000
12,000

1,000
1,000
7,000
3,500
3,500
7,000
3,500
3,500
7,000
7,000
3,500
3,500

H

mH

H

mH

35,000
35,000
35,000
35,000
261,480

4,480
4,480
4,480

257,000

257,000
257,000
40,000
40,000

8,000
3,000
3,000
5,000
5,000

0ir

<J

ol
X0

Ell 2|
=o

(OFES =]

oO=23X SH

307 21201 &

Ki
iy
&1

<0
R0
~

oJ

=
=

2|

Ol AMOItHA

=

OlZAOTHE X
307 212t01 &
ORM52 &

[

&0
OB
J
oll

162 %43

2l x

o

70,000

22l

01 At
307 21201 &

Ki
iy
&1

<0
0
~J

ol

307 21201 A

K1

ol

-

<0
R0
~J

ol

2|

=

=

At Hl X

=
=)

oo

ol
1of
N~
il

&
_|w_

SH

i=)

25,000
5,000
7,000

2,000
7,000

25,000
25,000
7,000
7,000
2,000
5,000
14,000

|

=

o

2|

=

o

o

=
Xl

|

AN X2

=

OHel=sd

O=2g Al X

o
CItAIHIAEIE JHA




AN 22Z ML
A BU=TE
el NYRsIITE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 14,000 7,000 7,000
04 RIZFHALAIH E = 14,000 7,000 7,000
OCIJIAl HIAENE™ 14,000
F8ro & AMXH 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
O=sto & A M=l 2,000
Ol 8AIE JHzl K& 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
O0IE FIIMAHE 4,000
I M &AF XI& 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DI2HHALALSE E X 7,000 7,000 0
O=EJI2H M= 7,000
sSAEe A NA 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OO0l A= 523 5,000
=2ags 3H XA 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B & 4,000 4,000 0
o= = 4,000
gl P g R PN == 2,000 2,000 0
101 @14 dl 1,000 1,000 0
04 JIZHHZ2XNESE S+ 1,000 1,000 0
O=sgHe=E Y= .=HAURY 1,000
201 Lt 1,000 1,000 0
01 At 22l 1,000 1,000 0
ONY ¥ Sy AEXE 1,000
HdEH=EsE2E 167,000 148,200 18,800
< 13,000
s 154,000
ezl 3¢9 XA 38,000 38,000 0
307 21201 A 38,000 38,000 0
04 QIZFHALAIH B = 38,000 38,000 0
o3Jls4 6,000
0Jl83A 12,000




Kl
iy
0o 73
&) O0H

(] o (] o o o o o o o o o o (] o o o o
o o o o o o o o o
© | ® | @ S|S | S|S |
._J.._u — — — Yo} Yo} Yo}
Klo
E
ES)
o o o o o o o o o o o o o o o o o o
o o o o (@) o o o o o o o (@) o o o o o
o (@] o [eV) (V) [eV) o o o o o o [Ye) [Ye) Y] o o o
o | o | === < | <|< o o o a | o NP
[e5] [e5] (45 [aN] (&) (V) [aV] (V) [aV]
WH3r
il
RS
o o o o o o o o o o o o o o o o o O O o O O o o O O O O O o o o o o o o o o o o
o o o o o o o o o o o o o o o o o O O o O O o o O O O O O o o o o o o o o o o o
S|3|3|lea &3S S S|S|d S |S|S|em v |[SSS5|5 3538 5355555 vHIw|L B|IS|3|8 S S & S
o (o0} [e0} (o0} (<o) [aN] o [aV) (V) [aV) N w w Ye) Al [aV] Nl OO ™ Al OO ™ [QV) O < © AN WO M~ (aV] Al (V) [aV] N~ N~ N~ o Y] N (aV)
(V) [e5] [ep] (45 — [eV) (V] — [aN] — (V] — — [eV) Al [aV) —
3r
<
=)
M M H W
)
o
ﬂ
0
gm w
M_ o
_ 3
c S
3l S
In.AI —
I+
= ]
— = _
. o _ - 10}
= I T o oﬂa M w& = 5!
= Kd ®0 K E = K n Kd ® K 80
iof M M H ® R H oo = a1 Mo — H WO
oF or &D = <0 = [ \_.ﬁ ol = Y 7] Mc 3D il Mo 3 M
o 8 | = =z & & 8 |2 |m|H =z O O H < < o} <10 < K = < AU H H RO
o L T R i Rlo|z & 7=z w o |d pd =z 0B 7| &2 = ME 7|z ® T B B8
= o A0 S| ~ W A | |[H | H |z |5 |®0 W00 @0 |op o 50 o 1o M| |/ %0 S | w0 X0 o mm K]
U 5 AR R BR|B|T 0| |A|R W KR N A1k i w|Aale Aw|a|y RS R
K0 Ol |o)|lal O © O|H|ol (W O |® |a)|a © O al o © © ||l O|H |a&l|al O © © O
: i = s o = = 518 0 5 S sy S5 |3
T v |® n|® o|® 70 ® W | & | @
i - e i e 0 R0




Kl
iy
0o 73
&) O0H

o o o o o o o o o o o o — — — —
o o o ()] N~ N~ N~
Sl = ~ e |=
= [N} [aNI KN — — | = | <
no NN po
KIo
E|
=)
o o o o o o (e] o o o o o [eo] [e0] [e0) [eo]
S o | O S S S o o o N~ N~ ~ [~
o o o o) o) Ye) o o o Ye) — o o
© | © |© < | < | < =) o =) © — | o |wv
— — — o © — —
H3r -
uilEd!
Pdk=
o o o o o o o o o o o o o o o o o O O o O O o o O O oD O O O (o)) (2] ()] (o)) Yo} Yo N~ [ep] ()] [op] (@)
o o o o o o o o o o o o o o o o o O O o O O o o O O © — O v < < < < N~ N~ < — ™ L 0
S e e ele|lele ol vIo |l e @l el eg|le @oege|e SN | T, M ® ¥ o © o ¥
ar
<
=3
W w W W W
ol ol ol 5 =2
o Al o — - .
—_ < —  x < ™
[eN) x x mE *x x
or g 2 B0 o ® o
) - ¥ x x S S
X o o B0 S <
BJ H o o — o o
o ¥ S  * - -
: 3 © © w DR
ol - <33 g ===
—_ —_ m < ©
T % = i ¥
= = o % = a0
= = = = ' I+
: il == Hr Hﬁ i al _E
- J > <l0 = >3 Fo— 00
= ol o K m_n__r_“ 0 K Ro Ko K Moo SRR Mo
o o w3 W | T i = oo = o 5 o3 uo o< o< o
F | om T~ | M r I Iy zm ° LI = ol A O o 8 N
S |r e D =z R[4 SR < = WoX Mmoo g8l =
- T = i IO O O B O = U i =z < 30 mowW oW oo 2 2
- 3l o % W || S |® R s |2 |® M (4|3 [/ 20 | = =) B0 MW |3 |E I =~ O OF 0F & | |
R’ M 6 X0 8|5 |~ |” ® | (A& R |3 |~ A 8| ® ~ ~ 0d 30 mlsAWw O O O O O
RO |©O © O O|x |oll|lel © | A |a|a ©|WH |a)|a) O|= al ol © 0B z |3l |R ©
: His IS oSS D5 = S 3 a A = =9
3 kM| @ A | = Q0@ i) & =< | =
i R0 R0 R0 d ) o

1l




A 2322
A BU=TE
o2l BSAE2Z ?EA)
SA BB O () - MM - HES il
—IUHLEESE 14,510,000& *2.385% 347
—1NE82E8= 14,510,000& *1.3% 189
201 L2l 31,300 31,300 0
01 At 22|l 7,140 7,140 0
O el 6,440
o2g+g 700
OSREAHBR2Y AVs+g
70,0003 «10H *13] 700
02 3322l 19,360 19, 360 0
03323 % HA 13,840
O A& & Hl R Xldl 5,520
03 A2 Z Hl 4,800 4,800 0
OcMNZ 23220 29
100,000& »43| 128 4,800
301 et a3 4,800 4,800 0
09 SALEHIEA S 4,200 4,200 0
O NM& ANJASAXR AHl24
7,000 #2524 x2H x12& 4,200
1MIIEBESS 600 600 0
SAAZUE 29 10,0003 «5H 123 600
405 RHoHE S HI 10,000 10,000 0
02 = A=l 10,000 10,000 0
Oz N2 &AL 10,000
oA &2 23,000 23,000 0
307 gi2tol & 23,000 23,000 0
02 QIZHE A A E X 4,000 4,000 0
oOMOt2E1 HzaH X 4,000
05 RIZHRI & 3 19,000 19,000 0
oxsz Mz 294l XA 19,000
SEEMZ A HE(BX) 20,820 20,400 420
= 10,410
[ 10,410
307 glz2tol & 20,820 20,400 420
= 10,410
= 10,410
05 RIZILI & 3 20,820 20,400 420
O3 M2 ALY 20,820
= 10,410
= 10,410
SMNEsHEEAY 2,000 2,000 0
< 1,000
= 1,000




2N
X ZH -
L= B

el

=

Ho M0 MO
tol toi ton
z =MW
wx M ok
Ho A =
02 ook H0

ot or

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

201 &

T

2l 2,000 2,000 0

1,000
1,000

EURLY

01 AFR 22l ] 2,000 2,000 0

OSAEE MY 2,000
1,000
1,000

EURE

DEEM2 IH27Y X

0

30,000 0 30,000

403 XIS H S A= 01 A 30,000 0 30,000

02 SO 2SOIHe CHE At I 30,000 0 30,000
Ound N2 Hz7Y 30,000

]
0
™
Olon
>
~
@
wW

,082 3,387,600 1,395,482
,000
,458
1,374,184
,440

&
—
N

nN O

N O

M
N
o)
>

i
Ok
Ofo
H
w
N

,400 206,600 107,800
,458
14,184
,758

o
N
N

W
N
3

st ASSXE (IS EXR) 74,900 66,100 8,800
,458
14,184
,258

)
no

A
&

201 LEr2A | 600 400 200

300
300

H X

a]] 600 400 200
A BRI IR 3 234 S 600
300
300

©
Ho
ton
e
o
%
ux

H X

301 2ELE A= 74,300 0 74,300
12,158
14,184
47,958

S

M H

MIIEtEd = 74,300 0 74,300

O=23t2&oil £ At &S H 72,200
11,572
13,646
46,982
O2st2t 2ol £ At II=H| 2,100
586
538
976

S

EUNL

S

EURLY

Est2Z LA 2SI (XHA) 3,000 3,000 0




(] (] (] o o o o o
o o o o o
el = < <
n0 B8 |38 ~ ~
Klo
E|
E=]
o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o
o (@] [Ye) [Ye) o [Ye) o (@] o o o o o o o o o o
o | =zl @ o oo S |s o | s|s|s © ©
LH3r -
uilEd!
k=S
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o O O o O O
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o O O o O O
S|e g|n|ln|d &S S S nun o S S S |3 |S S|S |2 S |2 |e S S|S|a[e S S S |S8S3|s a8
aor
<
=
~ ~
Ok DF ol o} o}
o o [a\] [eN] <
ISES v *._ m*o fo
> S x o
o g £ 8 2 an
X0 W 3 M o g
I_.._ - o
LY L S 2 3 3 &l
. 0 - al - - -
=1 — A ™ = <t w :,._Ao
o uo 80 = Fo a1
.”—ﬂ o 0B o =
= 5 A < il 5 5
< = o _ =
) ) OS] o M %0 RO - m 31
— rS) = B = r 0 W T 0 =
= = W = M = < K= R o
iof bl ul = = id Mo mm|X|s 7 =
F s S o 0 0 S A= ER=R N ==V =TI B &
3 0 - N W oD T ™ ulo 3o | D S o | K| D M & H | IF
L - M o) A~ 8 o o o = R0 | ok T T || oK oW | e ok
- o] ) O oW MO 0 0 ol (s | |T|D A @ M| |
Rl =z o O @ ™ A Al = T | K|S AR R
R0 wW O | M < © Ho ©) © = O|l<|<x O 0O|F5|<|<x O O O|= <
. o)) 100 — [oN] o] — | = o. — | = o. —
o oy o (] o o o < o o - o
H Eo @ < < <

£l

2t

o




AN 22Z ML
Hu: pEAE
tel: 228E (el &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 20,000 16,000 4,000
Ozt EXE £X & HE=+ 20,000
J| 10,000
s 10,000
22 KRN 4,468,682 3,181,000 1,287,682
Xl 1,200,000
< 1,360,000
[ia 1,908,682
SN ALY 1,000 1,000 0
203 YR =&t 1,000 1,000 0
03 Al =AY R =& 1,000 1,000 0
OAZIHLALRI & EE2ESFAH| 1,000
QEXHLY 722 A 27,500 0 27,500
401 AIEHI L 20HEI 27,500 0 27,500
01 A& Hl 27,500 0 27,500
OREXLE BESAE EXAY 20,000
OZZANES(ELTLE 5) 222 5,000
OLEBEE DS =3 ZEHI} 2,500
HEd S2Z=8 A8 ZEAY 2,200,000 1,000,000 1,200,000
Xl 1,100,000
< 330,000
s 770,000
401 Al HIZ 201 I 2,200,000 1,000,000 1,200,000
Xl 1,100,000
< 330,000
fia 770,000
01 A& HI 2,198,000 998,000 1,200,000
OU=&d 2Z= AAE ZdAY 2,198,000
Xl 1,100,000
< 330,000
[ia 768,000
03 Al =2 THHI 2,000 2,000 0
OU=d 2Z=d AAE =4 20| 2,000
=& ME SgaxZ 28AMY 200,000 0 200,000
Xl 100,000
< 30,000
s 70,000
401 Al HIZ 201 I 200,000 0 200,000
Xl 100,000
< 30,000
s 70,000
01 A& Bl 200,000 0 200,000
oHsd M8 sSLEx2 ZdAadY 200,000
Xl 100,000




o o o o [N [oN] [N o o o o o ()]
o o o o e} o0} o0} o o o (e} o ™
< < < < N « < «@ ©|«@ «
=+ o o [e6] [a\N] o ™ ™ <+ Yo (o)} [aV] N D
n0 S S > S IRV RV — 0
Ko o o > P
[aV] [aV] —
El
=)
o o o o En/_.v
()]
=]
LH 3" <
uikd o
RS
o O o O O o O O o o O O o o [N [oN] [N [e0] ™ © o] [eo] ™ [ep] D N~ Yo} ()] < o o o o o o o o o o o @ O
o O o O O o O O o o O O O o e} 0] o0} N~ ()] o © o (e} — Yol — QO [aV] o o o o o o o o o o o o — O
S3lSS838|8 S8|8 &S558 S S|~ |N|d oA DS A N~ S |®ld & & a5 oo |8 S 0o g
o O o O O o O O [ee] 0 O O [aN] o @ [ep] o Yo} — — — @ < Yol Yo} Yol ()] (2] [aV} [aV] N —
@ M~ o O O o O O D D O D < [a\] [aV] — — — 0 O
CLeefe e @ e N~
3l N =] - — ol
<
=
W WM WH W mr
ol ol ol = 2 BT F a
2 NPT ¥R 94083
= Y o2 B ol ¥ e X ox X
or o) o B0 =~ W& oo 0 B0
. 830 — % o S B W S S o
0 £l — % o X Jd © © N N ¥
A a1 = s @ B & L N3 oo gy
_ = oF T3 r R ow RS
. 0 . < € 4 a8 T e
3D Ki i T3 T ° = > 28
< bl H0 . i
I+ =) = ol <~
= X0 0 S IF
. Ki il 2 al " Uloulo
= Al = A0 <+ 0 ol ol
m A s = M oA 0 0 Mowo o o
; i _ n . T
S I O R ol |Ba %< 2o _
o 0 3 - . o ©0 ol ™~ A4 _ _ K
1 - i d = W Wogg MDE ~ =0 = = Mo <k =
- _:_MT K Mo i wm n M 1 o ORI o<k 3 O W6
- = Ea) - < I+ “lz | ® ~ OF OF Lo Al D S == == |
Rl - g W W Rl m|a Mo oo oF o R QWD R
R0 G = =z © = +la|m © =z 0 m o o|=|x 0 O
. Ao — — ™ Ok | — [ — [N © | =
- o o o - o o o o o o
X < < 0| - ey
i 30 <k

2t TH

i




EX: S3t22 =10
M 23
e 2IINE 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 573,035
- 1,169,978
=JIXNE 23 705,000 1,484,000 AT779,000
= 306,900
= 126,035
= 272,065
SAAI BSSE FHEHY| 400,000 0 400,000
= 120,000
& 98,000
= 182,000
401 AlEHIZL 2 0HY| 24,000 0 24,000
= 7,200
& 5,880
= 10,920
01 Al&H| 24,000 0 24,000
OKSAHAZ B=AY AAE A 24,000
= 7,200
= 5,880
= 10,920
402 SI2vXHE0| ™ 376,000 0 376,000
= 112,800
o= 92,120
= 171,080
01 QIZEXIE2AIE 2 X 376,000 0 376,000
ORESHAE EAY 376,000
= 112,800
& 92,120
= 171,080
DAZSAANINEEACDAISETEEZH 200,000 0 200,000
= 140,000
= 21,000
= 39,000
401 AlEHIZL 2 0HY| 200,000 0 200,000
= 140,000
= 21,000
= 39,000
01 Al&H| 200,000 0 200,000
O=2&AF NIEBAST 2 AT BEZE=HE 200,000
= 140,000
& 21,000
= 39,000
DESEANASBEATEE 63,000 0 63,000
= 44,100
= 6,615
= 12,285
401 Al HI L 2 0HHI 63,000 0 63,000
= 44,100




AN 22Z ML
M 2N
&2 K E 23 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,615
s 12,285
01 A& HI 63,000 0 63,000
OLd 2EAMN 23EH4E EEX 63,000
= 44,100
S 6,615
s 12,285
DesstsNEa ZHIAY 38,000 430,000 392,000
401 Al HI K 201 I 38,000 430,000 392,000
01 A& HI 38,000 430,000 392,000
014 sASIEZ SUTUNE 2 89 38,000
dHJlgeE Bs 4,000 4,000 0
= 2,800
< 420
s 780
206 M= Hl 4,000 4,000 0
= 2,800
< 420
s 780
01 M= 4l 4,000 4,000 0
OFAIIEE BES(S+2/¥0I7Y) 4,000
= 2,800
< 420
s 780
CSXNE23M 576,000 528,000 48,000
< 285,000
s 291,000
nNEsdE 150,000 130,000 20,000
< 75,000
[ia 75,000
401 AIEHI L 2 CHYI 150,000 130,000 20,000
= 75,000
[ 75,000
01 A& HI 150,000 130,000 20,000
ONHEEHE EXMHY 150,000
= 75,000
s 75,000
S2sHEEHI 160,000 180,000 A20,000
< 80,000
s 80,000
401 AIEHI L 201 160,000 180,000 220,000
< 80,000
[ia 80,000
01 A& Hl 160,000 180,000 A20,000
OsUsSlHE EXNOHEY 160,000




A 2322
M 2N
@2 SXNE23M (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 80,000
s 80,000
ZEANE B3 70,000 0 70,000
< 35,000
e 35,000
401 Al HI L 2T 70,000 0 70,000
< 35,000
s 35,000
01 A& HI 70,000 0 70,000
OZHAE 2HANY (LA MY SEHZS) 70,000
= 35,000
i 35,000
TEMNE E3A 30,000 0 30,000
< 15,000
s 15,000
401 AIEHI L 2 CHYI 30,000 0 30,000
< 15,000
2 15,000
01 A& HI 30,000 0 30,000
O+EMA E2AM (ST AL A Y, ZETH
24) 30,000
= 15,000
i 15,000
JIEI23HE = 150,000 0 150,000
< 75,000
[ia 75,000
402 RI2EXt20l ™ 150,000 0 150,000
= 75,000
e 75,000
01 A TtEAEEX 150,000 0 150,000
O&EAA S201H, A= HUALS 150,000
< 75,000
s 75,000
ST o sHaBY JFEQ XY 16,000 40,000 A 24,000
= 5,000
[ia 11,000
207 K2l 16,000 40,000 A 24,000
< 5,000
s 11,000
01 2284 16,000 40,000 A 24,000
OS2 M= A4HY JE2 &2y 16,000
< 5,000
e 11,000
LEIMN B 309,300 471,300 A 162,000
= 101,700
< 12,000
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AN 22Z ML
M 2N
& RFEI2IM EE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 18,700
02 QB LA EX 37,400 22,000 15,400
OO0l & #l= AR - &1 S MY 37,400
= 18,700
s 18,700
HdSAHE BEEEHI 600,000 200,000 400,000
= 300,000
< 150,000
s 150,000
ZOA E=FHIALY 400,000 200,000 200,000
= 200,000
= 100,000
s 100,000
402 RI2FXt20| ™ 400,000 200,000 200,000
= 200,000
< 100,000
s 100,000
01 BI2tt=2 AP E X 400,000 200,000 200,000
OF2AAN B2H 5 - H= 400,000
= 200,000
< 100,000
[ 100,000
2EAN E=AY 200,000 0 200,000
= 100,000
< 50,000
s 50,000
402 RIZEX20l A 200,000 0 200,000
= 100,000
< 50,000
i 50,000
01 It 2 AL B X 200,000 0 200,000
O2EA EZH HE = 200,000
= 100,000
< 50,000
[ia 50,000
3l 48,383 64,084 A 15,701
=23t 48,383 64,084 A 15,701
101 14l 15,603 12,504 3,099
04 JI12ZtHZ22HEE =+ 15,603 12,504 3,099
OM=XUS FatMel U2 15,603
OM=xg & &
86,6803 x4 & «152 33| 15,603
201 Let249] 11,480 30,280 A 18,800
01 At 22l 10,080 28,880 A 18,800
OBt~ 6,300




A 2322
Za: 25
& 23 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=2stMze 288 ¢
100,000& 40 A %12 4,800
O2MUIXl HIE (23 S) 7€ 1,500
o2d+g 3,780
O3 M= N2+
70,0003 *3H *1.53|«12& 3,780
02 =224l 1,400 1,400 0
032323 2 HA 1,400
OzstM2el IS 100,000& = 12& 1,200
O3 M+ 23T Fatx=+HE
200,000& x13l 200
202 o4dl 1,000 1,000 0
01 =S LHAYI 1,000 1,000 0
OS2 ML RF=E =LA HI 1,000
203 YR =2t 1,000 1,000 0
03 A BFAH S =AY 1,000 1,000 0
O=sM&dRF& 20,0003 «10H «53] 1,000
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
oddllgE 25 Mz #Y 1,000
301 L2 LS 18,300 18,300 0
11IIEBEAS 18,300 18,300 0
O2=tM Eoaclel 24
100,000& 1374 A %123 15,600
OdAIIES(SE2)x2Y &sE43
90,000& *303l 2,700
ge s 29 141,930 93,568 48,362
gugs 2y 141,930 93,568 48,362
101 14 Hl 22,430 20,968 1,462
04 JIZHHZ2XNESE S+ 22,430 20,968 1,462
ogelgaae A2 (Ald2el , iHE) 21,563
OoJlzs 44,6403 +2H «160 14,285
ORrssgs¥ 44 6403 «2H x27 2,411
OsgZ2fs+< 44,6403 «2H 30 2,679
428 2,188
— U3 EES 19,375,000& *4.5% 872
—MHEEZ 19,375,000& *3. 1% 601
—ZUHLEE = 19,375,000& *2.385% 463
—1E8EEZ 19,375,000& *1.3% 252
Ogesa FHEH ¥ HMEXHY
86,6803 x2H «53] 867
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EX: S3t22 =10
M 23
R XNEHXNE25M (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NEH XA Z S 71,000 70,000 1,000
NEHIXNE 23 A 71,000 70,000 1,000
401 AlEHIZ 2 0HY| 71,000 70,000 1,000
01 Al&H| 70,000 70,000 0
OXH - HANA23HM HHl 70,000
03 Al 20| 1,000 0 1,000
OAlI&E S0t 1,000
M= 5,359,721 4,792,325 567,396
Xl 400,000
J| 126,005
= 62,383
= 4,771,333
H=HAFL S X & 1,526,600 1,270,824 255,776
= 29,000
= 1,497,600
H=EsX&d 19,000 17,000 2,000
201 et d| 4,000 4,000 0
01 AR 22l ] 4,000 4,000 0]
Ogtt4f=2Y| 3,000
OUSHAIZEE L L0 HH
100, 000& »30H4 3,000
oYdxz 1,000
OM=EUs 23 HHl Xt 200,000 53] 1,000
202 o4 | 10,000 10,000 0
01 2L HI 10,000 10,000 0
O =L H| 10,000
203 € R =& 3,000 3,000 0
03 AIEH =X H 2 F X Y| 3,000 3,000 0
OUEZH=HA =2H 20,000& *10¥ x103] 2,000
OsAH&EXNEAHEY HH 100,000 x 1004 & 1,000
301 et A= 2,000 0 2,000
09 SHAIAHI B A2 2,000 0 2,000
OUx=HM=Ua AdBH 50,000 x10H 43| 2,000
AZXOAE & A= KA 12,500 0 12,500
201 2t Ay 12,500 0 12,500
01 AP 22| d| 2,500 0 2,500
OAZX[0IAE E22 MH 500& x5,0008 2,500
03 A2 G H| 10,000 0 10,000
OAEZ=0IAE & JXNEZ2EERX XA 10,000
SI=USY T HUI A A= 4,000 1,500 2,500
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9,000

Off &t 24

4,000
4,000
4,000
5,000
5,000
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4,000

4,000
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4,000
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A 2322
M s
S MSHAZLSHIZ (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
04 QIZFHALAIH E = 5,000 0 5,000
OZEMEUa EIHFHIXE 5,000
JagEH2UMESHSUE &It 16,500 16,500 0
307 21201 A 16,500 16,500 0
04 QIZFHALAIR B = 16,500 0 16,500
OZHZMMEMEU HFIHEH XA 16,500
g MENSUHEE ot 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
04 DIZHHALALSE E X 80,000 0 80,000
OTMENESUHEN ML XA 80,000
ZAEZZH MEMSUHS &It 7,600 6,500 1,100
307 glz2tol & 7,600 6,500 1,100
04 DI2HHALAISE E X 7,600 0 7,600
O ZfeIMeExsHa &IIZHIXA 7,600
Zegsotel=d s &t 1,000 0 1,000
307 21201 A 1,000 0 1,000
04 QIZFHALAIH E = 1,000 0 1,000
OZdgsote =g al EJHEHX& 1,000
clHg =103 8,000 9,000 21,000
307 21201 A 8,000 9,000 21,000
04 DIZHHALALSE E X 8,000 9,000 21,000
Ocl¥Hg =320s HEXA 8,000
DEZHEIHLIANS 6,000 7,000 21,000
307 gl2tol & 6,000 7,000 21,000
04 DIZHHALALSE E X 6,000 7,000 21,000
Ond =zt &=L AWMSE HzXH 6,000
DEZNESSHLUS 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DI2FHALAISE E X 7,000 7,000 0
OnNEZ NEZ HdLUal WX 7,000
DEZH =D S 9,000 10,000 21,000
307 21201 A 9,000 10,000 21,000
04 QIZFHALAIH B = 9,000 10,000 21,000
ONEZ=tl =ZUal HEXA 9,000
ZH =3 ZIHEHMU S 12,000 5,000 7,000
307 21201 A 12,000 5,000 7,000
04 DIZtHALAIHE E X 12,000 5,000 7,000
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AN 22Z ML
g s
ol MSSHAMLSMA A (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz H=3 EIJTUHCHE =X 12,000
nNEzdH=EU 44,000 40,000 4,000
< 4,000
[ia 40,000
307 21201 A 44,000 40,000 4,000
< 4,000
[ia 40,000
04 QIZFHALAIR B = 44,000 40,000 4,000
oOngdzdeEN=sts XA 44,000
< 4,000
s 40,000
HEHS SSE Hal X2 17,000 19,000 A 2,000
307 gl2tol & 17,000 19,000 A 2,000
04 DIZHHALALSE E X 17,000 19,000 A 2,000
OdENsE SSLEUS XH 17,000
DEZOFRHESIEI| OFR2THE 6,000 9,000 A 3,000
307 i+l & 6,000 9,000 A 3,000
04 QIZFHALAIH E = 6,000 9,000 A 3,000
ODNHEZOIRAHESIEI OFRUS WX 6,000
DEFEFHEEI FHADUE 6,000 7,000 A 1,000
307 21201 A 6,000 7,000 A 1,000
04 QIZFHALAIH B = 6,000 7,000 A 1,000
ONEZEFAHEITI +HelAHs K= XA 6,000
DA EI FH2 U E 4,500 5,000 A 500
307 21201 A 4,500 5,000 A 500
04 DIZHHALALSE E X 4,500 5,000 A 500
ONYEZHHRHESFI +HelAHS K= XA 4,500
de det2E=ZH3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OZg det2E2Z0s HEXA 8,000
DEZAHOE=SUHSE 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
ONd= HOIESUHE M= XI& 5,000
s HdNFTHS 8,000 9,000 A 1,000
307 21201 A 8,000 9,000 A 1,000
04 QIZFHALAIH B = 8,000 9,000 A 1,000
Odsd ALdWFUHE M= X 8,000
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AN 22Z ML
Hu: HENE
ol MSSHAMLSMA A (9 ® =)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
82 7449 =103 60,000 30,000 30,000
307 glz2tol & 60,000 30,000 30,000
04 QIZFHALAIH E = 60,000 30,000 30,000
O&= |R4E FIU3 HaAXH 60,000
g3&I AEd =303 6,000 7,000 A 1,000
307 21201 A 6,000 7,000 A 1,000
04 QIZFHALAIH B = 6,000 7,000 A 1,000
Ogsl&I HNEYE =202 HFX 6,000
DEZt SRS 5,000 6,000 21,000
307 21201 A 5,000 6,000 A 1,000
04 QIZFHALAIR B = 5,000 6,000 21,000
OundzZ==t U HEXE 5,000
DEZH BHECIE S 6,000 5,000 1,000
307 gl2tol & 6,000 5,000 1,000
04 DIZHHALALSE E X 6,000 5,000 1,000
ONd=ti BHERIEHWS XX 6,000
dIEEHS S AUE 70,000 50,000 20,000
< 10,000
i 60,000
307 glz2tol & 70,000 50,000 20,000
< 10,000
fia 60,000
04 QIZFHALAIH E = 70,000 50,000 20,000
Od=8Uldd=3 Uzl MHEXS 70,000
< 10,000
[ia 60,000
st=2 FMAZHS 70,000 0 70,000
< 15,000
[ia 55,000
307 21201 A 70,000 0 70,000
< 15,000
[ia 55,000
04 DIZFHALALSE E X 70,000 0 70,000
Ost=d I MAEUSE HEXA 70,000
= 15,000
e 55,000
sHEXN=H AEEeC O 40,000 20,000 20,000
307 glz2tol & 40,000 20,000 20,000
04 DIZHHALALSE 2 X 40,000 20,000 20,000
OsHdRNEH AESC2 D HAXNA 40,000
ZUMSUE 60,000 0 60,000
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AN 22Z ML
g s
ol MSSHAMLSMA A (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 60,000 0 60,000
04 RIZFHALAIH E = 60,000 0 60,000
O=ZeXN=CHal =X 60,000
ZUHMEUHE SHEIXA 280,000 0 280,000
307 21201 A 280,000 0 280,000
04 QIZFHALAIH B = 280,000 0 280,000
OZ2UN=Ca SHEIIBH XA 280,000
H=SH A& 108,000 108,000 0
307 21201 A 108,000 108,000 0
03 QIZtHNHE2HHEX 108,000 0 108,000
oundzZH=s 2L 60,000
CLNEd=MENTS 2EXE 48,000
ZHaSEAHESIED BHEQEHS 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
OZagAEgEI HHELEU 40,000
DEZ=SH T =203 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OLNEZ=ZE3 T =S 5,000
fa)| == E20U3 200,000 0 200,000
307 glz2tol & 200,000 0 200,000
04 DIZHHALALSE E X 200,000 0 200,000
OReI d=Zstn 5703 200,000
M sEH3s 292,632 0 292,632
J| 109,296
< 10,235
e 173,101
MBS 16,128 0 16,128
< 4,838
i 11,290
307 glz2+ol & 16,128 0 16,128
< 4,838
s 11,290
02 It A AHEE 16,128 0 16,128
OdEN=ua2d 16,128
< 4,838
s 11,290
MEHsZ20Y 9,792 0 9,792
< 2,937
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AN 22Z ML
Hu: MgAE
Hel: dadsgds (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 6,855
307 glztol & 9,792 0 9,792
= 2,937
s 6,855
02 It HAMAEE 9,792 0 9,792
OO0 oldsunadzd 3,168
< 950
s 2,218
OFAEINHWARY 3,168
S 950
a 2,218
oZ+HsUHsE=Y 3,456
< 1,037
s 2,419
MEMNSX XX (EX) 145,728 0 145,728
J| 72,864
= 72,864
307 glztol & 145,728 0 145,728
Il 72,864
[ia 72,864
02 UAHFHAEEE 145,728 0 145,728
OLtHEMF XX X 145,728
bl 72,864
e 72,864
MEHSXNEA 2K (XA ) 28,800 0 28,800
307 21201 & 28,800 0 28,800
02 I HYANEEX 28,800 0 28,800
Ot SN Sk 28,800
HEdMEMSXS A WX (E2X) 72,864 0 72,864
bl 36,432
i 36,432
307 glz2+ol & 72,864 0 72,864
J| 36,432
a 36,432
02 It HAMAEE 72,864 0 72,864
osuMEXN=XS A B X 72,864
J| 36,432
= 36,432
HEAMMEMNSXNEX S XA (XHA) 14,400 0 14,400
307 glztol & 14,400 0 14,400
02 UAHBHAEEE 14,400 0 14,400
ONHZNMENSANERL ESXE 14,400
oM =S0otel K& 4,920 0 4,920
< 2,460
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AN 22Z ML
Hu: HENE
el MEHSZAS (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 2,460
307 21201 A 4,920 0 4,920
< 2,460
s 2,460
02 QB AANGFEE 4,920 0 4,920
OHMM=S0tel K& 4,920
< 2,460
s 2,460
H==sd3AY 358,870 425,660 A66,790
J| 16,709
< 23,148
i 319,013
HEIERINEE 2,000 2,000 0
301 et a3z 2,000 2,000 0
1MIIEESS 2,000 2,000 0
ONESXNERSA HE 100,000& 10X 1,000
O NNERSNH HFE 100,000& 10X 1,000
NERAEHRER2E 12,000 0 12,000
307 glz2tol & 12,000 0 12,000
02 QIZtE M AHEE 12,000 0 12,000
OlNdRA~dE OFE 23 XA 12,000
NEHSE2SF 321,000 400,000 279,000
= 21,000
s 300,000
301 et A=z 321,000 400,000 279,000
< 21,000
s 300,000
Vo=t - 2SRES243 321,000 400,000 279,000
OXZN=E 294 321,000
OXHAEEE 2 321,000
< 21,000
s 300,000
HSH2H™ A 23,870 23,660 210
J| 16,709
< 2,148
s 5,013
307 21201 A 23,870 23,660 210
J| 16,709
< 2,148
s 5,013
02 YAFAAFEX 23,870 23,660 210
OMSHIR XA 23,870
J| 16,709
< 2,148
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EX: S3t22 =10
HH: RS
Sl HSSSAY (ol m2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | = 5,013
HEIIBAIEE S ALY 1,963,000 1,800,000 163,000
Xl 400,000
= 1,563,000
HSAEAY 364,000 600,000 A 236,000
401 AlEHIZL 2 0HY| 364,000 600,000 A 236,000
01 Al&H| 364,000 600,000 A 236,000
OYs™ HOIEEZE HIDIHAA 200,000
OUIIIHSE K& 2 sHY XISHAlA 20,000
Ool0lH H=E=2 € USHM=E2 HES 60,000
OAZZEI2(5TH)S LSHA 2 4T &
Xl 84,000
ANEHESAE HE 149,000 0 149,000
401 AlEHIZL £ 0HY| 149,000 0 149,000
01 Al&H| 148,000 0 148,000
OY9T-HIE S8 A2 & 148,000
03 Al 201 Y| 1,000 0 1,000
OA&EE20idl 1,000
SHEANSAEZLEAY 1,000,000 800,000 200,000
Xl 400,000
= 600,000
401 AIEHIZL 2 0HY| 1,000,000 800,000 200,000
Xl 400,000
= 600,000
01 Al&H| 997,000 800,000 197,000
OsSDHEMSAEEZTLEAY 997,000
Xl 400,000
= 597,000
03 A& E2HH]| 3,000 0 3,000
OA&E S0t 3,000
SE2sEFIHEXH 450,000 0 450,000
401 Al EHI L 204 HI 450,000 0 450,000
01 A& H| 448,000 0 448,000
OS2 =XNEXZLEAY 448,000
03 AlE 21| 2,000 0 2,000
OAI&E S0l 2,000
HEANE2H 583,498 669, 826 N 86,328
M= AIA 22l 583,498 669, 826 N 86,328
101 21 214| 39,103 36,511 2,592
04 JIZtHIZ22XNSES 39,103 36,511 2,592
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A 2322
Hu: HENE
ool ML Y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OHEANE(Zeess dAysa 9207,
SEHRSE AZSHSIH AZXER)2
e 39,103
OJles 44,6403 +2H x250 22,320
ORsSsg=d 44,6403 +2H 52 4,643
ORSsIt=¢ 44 6403 «2H x 11 983
Oxgzfsd 44 6403 x2H +522 1.5 6,964
O4UEE = 4,193
— U3 EE= 34,910,000& *4.5% 1,571
—IUHLEE= 34,910,000& *2.82% 985
-} LEEE 985,000 *6.55% 65
—MHEEZE 34,910,000& *3. 1% 1,083
—1N888= 34,910,000& *1.4% 489
201 L2 | 294,945 297,465 A2,520
01 At 22l 19,000 19,000 0
O el 13,000
OXFHIYR=Z (A3t0I2 Q) 450,000 *8CH 3,600
o¢=J|17g 40,000 x60& 2,400
02 8323l 275,945 278,465 A 2,520
O&INLB(TVadlE L&) 102,600
O ZEg2sd 1,800,000& »12& 21,600
OClng=zdUNSs2 2,800,000& x12& 33,600
OLNEZATZINE 2,300,000 x12& 27,600
O3sH detzt=snd 50,000 128 600
OHEHMEZ=& 2,400
OAZXER 800,000& »12& 9,600
OsUMEAIE 600,000 128 7,200
oOsdsld= 100,000 *30f &+ 12& 3,600
Qo= 23 5,000,000& x12& 60,000
ogetEd 2 7,680
CLEZZER2sE 100,000 =128 1,200
O&UMs2 & A 170,000 128 2,040
O9zZJ1d ¢ 9% 170,000 128 2,040
ouitHt=Ea=X3 2 100,000& »12& 1,200
Oolol N s 2 100,000 128 1,200
O&J|etEzte] e+ 2 13,884
CLEzZsEg2sEd 88,000& »12& 1,056
OClnEZAUNS2 99,000 128 1,188
OALXER 250,000& x12& 3,000
OHNZFHE3& 150,000& *12& 1,800
O9&ZIE 300,000 122 3,600

_29_




A0
Klo
E
ES)
o (@)
O Lo
qN
Y] Y]
WH3r
il
RS
o O O O o O o o O o O o O [Ye) () Ye) (e) () (e) o o o o o o O — o O v o o (@)
<t O O O (@] < O Al o O o O N~ [Ye) N~ [Ye) o) [Ye) o o o o o < — N — O < [Ye) Y]
aor
<
=)
m@E® @AMPAOEE @y @ @ @ @ @ g @ @ EpEEEEEEE
Foxoxox o@m o x 2 LomoSs w4 T 5 £ & 3 w £ & S8F883IFRKRT
or o0 oF of of o H T = o © o = = 2 o 2 Q Q o S o N N =
0 2888 88%3848 $I&5 pP _gz% ¥ 2ows P T T
~2 2 2 2 Mg @ W X o & o x o x Sl ol ol oL m oo <4 <4 ~ o~ WK S WS
Bl MEOOOOMEOOOOT._EOO oF of WMo s ™o oS —~ O =) = = — - =~ = -~ -
CEFE R8s g Y88 T 27 88 S WS WS ~8 Wws ¢4 NN 2 T e s 2T s -
30 s 2 3 We < o MW e R M Y D x = T TS —
0l W = 3 oS +S S 80 N LN B0 2™~ ™ = 0] [0
< |= ¢ o5 o = =R KW ow Ky - n o« 8 8
U W< X _E - R S A R = =
= |= <+ X 2 <z " 0 a 7 all 0 KA s S
= @ + XA P - 5> @ T Kom wo&
S 0 A= A SE = - @ I z sy ®OR K0 el
= |w = R ol Rw  mooo M KR mm oy g oo
= |ar Sl T T T R O w ow = P ow M D T WM EW R
o for om0 ¢ ok n o oy O MT [ I S N <D D momooN I M R W = OM
F [ wwmor waouwy s @ i o owm < = w o owL T zwmwH s =D
[ = OROW W uW A<k T RW oW o mom s = W oo < =< Ok ™ A MU ROMH = K
R S YMWHE WAERHLT FIB O OB W T MW OBR OR WO UEUHDSH
Sl wwmwmw @ <8 AW RHHASHA Lo F o o @wm I dm Al RETH W<
RO O <4 KK KwrmpMD3I0AA4 mRwO O O O O W @W@O O ®HOOO0OO0O0OO0O0O|uw|nm
&0 ©O 00 © 0O0O0O0OO0OO O 0 © O (©) ==
I+

_30_




A 2322
Hu: HENE
SR MSAL2S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozeesx @0 Bol8 5% 7Y
250,000& x103 2,500
O(R)SLE2SH SEEI2H,0AFY
350,000& »5CH 1,750
Oeteld] HeE (B .S842s%,224
%) 1,000
307 glz2tol & 19,200 19,200 0
05 RIZHRI &t 3 19,200 19,200 0
OMSAESTLHALAE
200,000 80 A =128 19,200
401 IS HI L 2T 225,000 310,400 85,400
01 A& HI 225,000 310,400 A 85,400
OAxmE 23J17 EXAY
10,000, 000& *20H 2 200,000
OZE2SE HE £ &0 BASA
20,000,000& =14 20,000
OMSAE 210l8sttH & 5,000,000 1Al 5,000
FMSHH 29 533,430 525,620 7,810
EHHMSHHEZ2 Y 518,530 510,720 7,810
101 124 dl 182,259 165,209 17,050
04 JI1ZtHNZ2HEE 182,259 165,209 17,050
M SHAEH 22 102,456
OJles 44,6403 +5H x250 55,800
OssS5gsE 44 6403 *5H x522 11,607
ORsst=¥ 44 6403 «5H « 11 2,456
Osg2x*RE 44,6403 «5H 522 1.5 17,410
OZA L AlZt=<
7,000 5«10 124 = 4,200
42 E 10,983
— U3 EE= 91,473,000& x4 .5% 4,117
—IUHLEE= 91,473,000& »2.82% 2,580
—AIRAEE= 2,580,000& *6.55% 169
—MHEEZ 91,473,000 *3. 1% 2,836
— 1828 = 91,473,000& *1.4% 1,281
Ox=gZA 212 74,446
OoJlzs 52,1103 x2H +250 26,055
o&N= 26,055,000& *4/12& 8,685
ORsS5d+g 52, 1102 »22 »522 5,420
ORrsst=¥ 52,1103 =2 «11 1,147
OsgZ2fs+% 52,1103 «2EH «522 «1.5 8,130
O=&tl 3,960
O2tAldl 2,750
OANMZRZRY 9,770 2«44 A 2t+123 10,318
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2A: 222 s
Hu: HENE
©9: SHHSME 29 (29l 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oogerxd WH 10, 000-& *200EA 2,000
OSHE E4X9 M 150, 000& * 10EA 1,500
OZZHE 2 X 600,000 *2EA*3 3] 3,600
OAFER X 22 Y| 2,034& x1,900m* 3,865
(©)sK=2] 2,000& x7,0004 *12& 168,000
Og& =st8IZ ux 4,000, 0003 *2CH 8,000
O%xg& DAZIZ WA 22,000& x125m 2,750
Ox=F&E ST ADI WH 66,000 *6IH 396
401 Al HIL 200 10,000 19,000 29,000
01 A& HI 10,000 19,000 29,000
OxZHMAEX A w3 A
10,000, 0002 * 14 10,000
SStH M E Al & 22 14,900 14,900 0
206 M = Hl 14,900 14,900 0
01 M= bl 14,900 14,900 0
Oxg& 29 *E P2 550,000& *5& *43] 11,000
Ox+9& ZH uA 1,300, 000& *33 3,900
=20 HsdEHESH 101,691 100, 395 1,296
SUXMHHSY 101,691 100, 395 1,296
101 @121l 19,555 18,259 1,296
04 JI2ZtH 22 XNHEE =+ 19,555 18,259 1,296
O=20MRHMEH 202 19,555
oJl=3 44,6403 x1H 250 11,160
ORr3&sdsd 44 6403 *1H x52! 2,322
ORa2&IIx=g 44,6403 x1H x11L 492
Ose22Y 44 6403« 1Y x52 x1.5 3,482
o4 2,099
— =203 EE = 17,456,000 *4.5% 786
—Z0AHLEEZ 17,456,000 *2.82% 493
— A QYEEE 493,000& *6.55% 33
—MHEE= 17,456,000 *3. 1% 542
—EE88a 17,456,000 *1.4% 245
201 et A | 82,136 82,136 0
01 AFR22t2l Yl 7,200 7,200 0
O YBt=gH| 7,200
OANREESSFE 200,000& x12& 2,400
Ot ADERQ 200,000& x12& 2,400
OF3AESEZ+¢Y 200,000& x12& 2,400
02 35244l 74,936 74,936 0
O&IQB(TVEAZE EEH) 4,000,000& x12& 48,000
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